£ 15EVOLLMONTR—ILTF 42T A%

£HAXFEE

AREHIGHESE F40MEFEHHOFRATRAE

20194%5H6H
-

B 18
£1HE 2019.74.6(1)
¥£2HE 2019.74-7(RH)
¥£3HE 2019.74.13(%)
¥$£48BEB 2019.74.14(H)
¥£5HE 2019.74.20(%)
¥£6HE 2019.74.21(A)
$£7HE 2019.74.27(%)
¥£8HHB 2019.74.28(H)
¥$£9HHB 2019.74.29(A)
AR (1 86)
#1348 9:30~11:00
F2:84 11:10~12:40

E3HXE 12:50~14:20
F£4:E 14:30~16:00

(BL. A& EE. &AI2TN S,

HEBER: 18904/ 1 £580%
(1 EDiREHIE1005)

e

2019. 4. 6(x) AM9:.00~
MRS AE

EFES: 8:30
EFEE:

[I-IHEE(ZFDHEE)]

TOYYRR2(2&DRBN-F AV NEE

==

172,

- I8 (58 BHETHALSE
1 — S EIES

5 R @ EERR

B 53R @ iz

BT 1R

8 TR | [xoroFRizayEes]

18 AJ0OvY

201 8EE/RIE
I %5

B B EER—RR—ILH5T

EEB RA-JAHILTES
3 fi:F3I0X

(1] [2] [3] [4]

T7A4VY—HR—UX ERGRERE

1 | |Br| || |®

B B RKA-IHLTES ol |3 || IR

HEB I AEVIREIRE

3 fi: K| || |#]| | R

| |V | R

&l [X] | X |

T8 EARE e

REFEFE: MHH BEHFTS/40X) 5

r%*&%a LR BX@RES142X) i
RENE FIE E#HREB(F5TUR)

BEE

RAGR BER5T0R)

| BB FIs 42X |

4 6! 428 g 5/19
10] o 2 4 |
Fﬁ =2 | 4/21 Féj = I 5/18
A-1fL  B-2fii B-1fi A-2fi A-1fi B-2fii B-1{i A-2fi

T X K i F 3 7!:“ T

. 0T i:} 35 L34 o B . 0T

23| | %- = B K L. y %35
11172 v B & 72 v 1
* * z c & * Y +

= 15
A:%:ﬁ‘“t%ﬁk?ﬁi’%

B: Kk ILEFERIS
C1: 7K LB _E B35 LU
C2: 5K LI B _E 55 535 BRI
D: T REEIGDE
E:RALYL—aviEiE
F:HEHBRAETT L
G1: T RERBUSAE (7223-F)
G2: T REFIHEBE (Yyh-15)
H1: R E/NERRAT (W99 29b)
H2: )R E/NERBE (KB EE)
I K< SHBRG
J: SN (BERD
K: HER/NER
L: [HEE g
M: REAEG

C e MmN @ o

mb i I & S - B o]

~|

NV LJUT

o]

o> e <

MEIEE N

N —3% 4\ o]

umwé—%x—zmmq

% BT S — |

I# B7AvY

%] [7] [3]
7| |&®| |F
A )
Zl -] =
El |2 |~
gyl [#F] [X
1 |
vl |F

=

&

NO—3F—F A\ N|o




